CHOOSE THE PROPER ONE FOR INSTALLING YOUR FAUCET

Installation of Brass Ceramic Faucet Installation of Push-In Brass Ceramic Faucet

Black rubber washer —
AP ~__.—— Counter top

| 1 3/4"
Escutcheon plate ~__
H‘h‘h_"ﬁ-..
Ly A AL LA A A e A A,

Black locating washer ss washer
(used where a 1/2" hole is Star washer
available, reverse when o= Lock nut
mounting on stainless steel -
or when using drilled hole) B Black locating washer
' ool 3/8" Faucet adapter & or metal washer
1/4" Tube 1nse ’ﬂl seal converts 1/4" to 3/8" used where a 1/2" hole 1s

available, reverse when
mounting on stainless steel
or when using drilled hole.

1/4" Compression nut

1/4" Tube ———E]

3/8 " Ferrule
3/8" Compression nut

3/8" Tube

|
1/4" Ferrule —— g 3/8" Tube insert

1/4" INSERT, 3/8" FAUCET ADAPTER KIT & TUBES ARE
OPTIONAL, PLEASE CALL YOUR DEALER FOR MORE INFORMATION

Important Notice for Routine Maintenance and Care
® To clean, use mild soap, water, and a soft sponge or cloth.

® If used with hard water, it is absolutely necessary to clean and dry the faucet immediately after every use.

Avoid cleaning with chemicals, solvents, or harsh detergents (this may serlously harm surface area)

~____——escutcheon plate

Black rubber washer

.. -=— (Counter top

r o r -
e

— 8S washer

Star washer
Lock nut

Installation of Air Gap Faucet

1. Drill @ 7/8" hole in the sink or counter top
or use the available hole.

2. Place the escutfcheon plate and the rubber

washer on the base of the faucet _» Rubber Washer

: ~ _—~ EBscutcheon Plate
s — Counter top —~ L L

o i

Split Washer ~

Brine Output —

Rubber washer
— Nut

Air Gap Window \
3. Attach the 1/4” brine water discharge line -

to the brine input (small) barb and 1/4" or
3/8" drain line to the brine output (large)

barb. SS washer
Stud —

——- Bnine Input

L. Mount the faucet and assemble the
hardware as shown.

MANUFACTURER: SHYANG YIH HARDWARE FACTORY (Taiwan)



DYRO905 INSTALLATION INSTRUCTION

13/4" diameter

Lockwasher D
@ Locking Nut

Gosket_—ﬁ
? —_—

1/4” Compression Nut @

Cone Washer

—_—

1/4" Tube

Connect to filtered water



